Find the value of x

Bxes)(1a-8) et

Al 133‘7 -
Sa+l8) =360
B x=56 (a-‘l—) (82~ ISP
C. repy (OMANe ke devag
D. x=125 ,':'_:‘ -‘\E)\) -360
(‘m\\u oc “ a°
V :‘t‘ &L\
(?{A A - 5LS " = “}. E
24 L —
‘—h/f
2 Givonparaliclogram Al (D, dctorsmss bk statoments behon st adwey s be Bue
Scboct all that ' SOPPOSIAE ONG\s Ore _{ .ngq\n\)ocm’
F. =BT DC =BT -oppos'¥e Q\st Gve = S\Aes § onqKs
ABaDECaAD +oppos it SIAL(S ON ey ¢ 0se QMO
, e\ -
) meA + meh = 160" PHD s Neves =
_lgo*

‘ ol vt - -
) AB+8BC = AD +p¢ (0L = ‘
;J‘ » O neor ) L__,;d,,_,
;‘ J. meB +meD = 1807 O“S\‘ s one Suppleméwnia ﬂa
e Zuld *diaconale L\ A Ffachelh e

e ADs u -
Ac=AD
“Yneén Fﬁ*ﬁ 0 | AD

TN =5+ Jand JL = 3x + 1. Which of the following lengths below
e for Reckomgles, diagonels Ore =
A NL=4
B /N=5
C. NM=8
D. KM =10
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4. A student is given the following information and then asked to write a paragraph proof.
Determine which statement would correctly complete the student’s proof.

Given: Parallelogram PRST and Parallelogram PQVU
Prove: 2V = 4§

yd Y% R
r s

Proof:
We are given Parallelogram PRST and Parallelogram PQVU. Since opposite angles of a

parallelogram are congruent, P w ZS
/\\ Dince  Hexe oL e 3aWE

A. Therefore, £V = 48§ by the Transitive Property of Congruence. O\/\S\QS en
B. Therefore, £V = 48§ by the Transformative Property of Congruence. e MﬂS\ h‘je* -
ANeC
C. Therefore, £V = 48§ by the Reflective Property of Congruence. pﬂ) P e“:\r/,\}w(a
D. Therefore, £V = 48§ by the Reflexive Property of Congruence. e 0 y
Q\/\%\Q S '

ey NapY s
V\l v

2\ 2 ¢g

5. A wooden frame has screws at 4, B, C, and D so that-the sides of it can be pressed to change the
angles occurring at each vertex(AB = CD nc{\AB Il CD,)xeven when the angles change. Why
is the frame always a parallelogram?

B

“ |F pne sex of oSides or O
\ Pm\\e\ogmw\ ale Vot =

// Hhen Hnak quod 'S
: W\d{ed o pawllelogan e

The angles always stay the same, so ABCD is a parallelogram.
All sides are congruent, so ABCD is a parallelogram.

One pair of opposite sides is congruent and parallel, so ABCD is a parallelogram.

S 0% > >

One pair of opposite sides is congruent, so ABCD is a parallelogram.

Released 12/16/2021
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6.  Which statement is true?

zolds
A. All quadrilaterals are rectangles. Folse ,b/c qUOtdS con Ve ‘\'\(CUPC
. All rectangles are parallelograms. {2 Q £

B
C. All parallelograms are rectangles. =45 ¢ : Ll NoYr a\\ PC(‘G\\Q\ CaMS \nowve
D 40° Coernevr  GW \es

Fe (Qc_,\'t.,(\(j.\ S

. All quadrilaterals are squares.

Fabe, Lfc

Uads
%o v hropezods
—7—What is the measure of HJ in Parallelogram FGHJ, given the following: Oppo S\ & ‘S\O\(Sb_?? “
poral\e) og v caliad I’
eFG=x+7 - ; Hce HI=GF
e GH=5x+3 H__j: X_""f |
e msF = 46° 6'7\ ~2 -4
e meH = (3x + 10)° G F [ —=¢|24°¢
A. H] =63 s\Ne need o Find AR / = \9
B. H/ =19 x before wt Con //,,/
C. H =12 [N W )
D.

o .y,
HJ =8 . Oppostie 0N les of a [@w\\dchmm fae=

Sr10%He g2 12 |

e —
8. JKLMisd rhombus.l If iz JML = 70° and m< = (5x + 16)°, find the value of x.

md IJNE = med ¥ M

LD \ K 1
_ 30«\0\ S o e 350
e B Diaaone\s %’ SX‘H‘Z b
B. x=10.8 V198 i e Ko
C. x=78 comer I\;‘O" 5% :’\_ﬁ
D. x=38 OVq\esS &P
o Bispcy MMEAWNS L .
(ot Nalf x%3-2 _
3 % Lo/_? e a
9.  What is the value of x in thelrectangle? ( s X+ 8y *I0=40
E 2NLe X=(d, Yoo (\i\\/\ puot a (9\{
A x=42  +(Corner owngles Wil
B. x=24 (O igo"s\.des e Te (SO uDON
C. x=8  JSOps Y6+ 10y Ay +8y+10=90
D XS | |ZY*”6‘) +10 =96
e \jfuf o
Released 12/16/2021 b(4) el
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10.  Given points B (—3,3),C(3,4), and D(4,-2). Which of the following points must be
point A4 in order for the quadrilateral ABCD to be a parallelogram? .
e\ Sldes

. Pg\ro\\
A A=2,-1) o i RS & e &
B. A(-3,-2) PSOO{YZ\}AC -y 4
C. A(-2,-3) < e
D. A(-1,-2) €‘>‘\o\>€“’ BC = Slope Ad - ; | ,.»/t‘."-"D

° 50 9o bac Loadah (oppos(?rc) fom D .
q0 domn |, RFE+ b .

TT. Usec slope or the distance formula to determine the most precise name for the figure:

A(—l,—4),3(1,—1),C(4,1),D(2,—2). %
°\00\£\V\3 oy Yl d\\OijmW‘v‘)r'S,Q,g o~ AD
w e topdseia o0 SRR I (T (200
B. Rhombus ° D‘(;F bureon e | C Xy Y Xz Y2 -
» 2 Z

2Wombi  15¢PhombLS
C. Trapezoid \yag ¥ sl05 :

D. Square d\S\’- Rrm vl (XL-X,)Z*(BZ—Q')Z'

(\—)J‘q)) (\l“> (l|'_\)) (L‘\\) A [
A X2 Yz % 9, x2 4 . cD
A= V0= Y+(-\=(aN* . 4= P tnad g (H11),(2,-2) ———

A N I TN IR o T v aay s al e

12, What is the scalc Tactor of the dilation centered at the origin of AABC to image AA'B'C’

G+ (2C1
/aEgl e
SamaERVZEL

\N 3

A k=1 * K7\ 2grows
10 |

B. k=1 o (<ke )\ =7 Shvmnlc
C. k=2 Co alwoms o A-7H
D. k=3 v Ao, 2) -7( N

(et ol oA

SN 5 . e

SN\ e
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at the origin. What are the coordinates

S e navgerve

‘ At“lBC.lS dilated with a fcale factor of 4 centered
of the image points?

y

A. A'(8,4),B'(16,4),C'(16,—12)
5

B. A’(8,4),B’(16,4),C’(16,12) 1
B || ,y ‘

C. 4(05,025),B'(1,025),C'(1,-0.75) 111N
] ;f | | 5

------

D. A'(0.5,0.25), B'(1,0.25),C'(1, 0.75) [

o oxplain which
jagram below.

NGAK oo

AP A
(x*\)‘ﬁ’-Z) |

easoning is correct?
ing the pre-image along the vector (1,-2)
e foctor

following responses; whose I

1age is result of translati
a dilation centered at the origin with a scale factgr of 3. Sca)
A~ elahon 1S

80° about the origin and dilated about the .« '
[\, \’nplymﬁ

by

Based on the
Jason says the in
and pcrlbr:ning
s the pre-image is rotated 1
actor of 3.

o Sanjay say
origin by a scale 1
g the rule ) B+ 1), 3(y—2))-

e Teresasays the image is @ result of applyin
S0
Only Jason is correctl. :
Sanjay and Jason arc correct. Joson iy Te S0
Nave Sam
oS FO° nalTon

(& COl‘I‘CCl.

all correct.

A
B.
C. Jason and Teresa ar
D 1d Teresa ar¢

Jason, Sanjay, al
\

(-12,-3) & |
( ntro

X
5 Q’W ‘
~ X AW »ALVA% A CA
/16/202 =L as )
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UH %
15. In the diagram below PQRS~P'Q'R'S’. Which statements must be true? GO\ 6\655
Select all that apply. \—t\;—____"i_) /v

2P =20 %m lse.

means  Symar

J

787 P

p=2Q Folse ¢ N

29 _ R¥R 1 of these

P1Q! Q/Rr veduce. o m

Po _Por  SCale foCror B 5

RS ~ RIS P

PQ _ PIQ:

w = m TOBE Dopgher oy o
wrie Olice T.

o PopseNong)  WEANS

~
5o Gngles aw =
ave £

proporhéna\

o e
;

Scale
guckor (B
&

//

&
2

\<

P'

A.

B
@
D

16. Two triangles are similar and the ratio of each pair of corresponding sides is 2: 1 . Which
statement regarding the two trianglesiSTHot true? ¥

Their perimeters have a ratio of 2: IT(Z-UE , “Hae cote o £

cca\e Kocko SC‘\.)Ou\ed

ecimedevs
He pect e

: . )S sawe o5 the scale T
The scale factor is a ratio of 2: 1 Tve He Todhe © sdes S ‘.u\. 5‘\ 0l€
Thei di les h tioof 2: 1 , racioC
eir corresponding angles have a ratio o FO\SC bl Siinatlar 3;/\& .
. Their areas have a ratio of 4: 1 NG COY\CE)\’UO/\'\' OAI\S \e
TQ\JE, 4o Bt 5
= 4 v
e o Oweos)s he e )

= (&)= 1 |

17.

®

What is the value of x ?

s 0

(D \oee\ one as

fop (Duvemie) % e

ok as  hotlowm (Aevommotav )
@) Mot up  Sides Lsing NS

one orc 9

4

— are  MNCES
y = @ Find Ocale factor
x=12 (S!d@s w/ 2 *H»‘S) 9
x=3 q 3
% ™ s 4
(4) Make o Proportwn O4C
5 WX
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o Simiayv F\aums ave = ool

18. Inthe figure below, what is the length of AB r e, o v VV\G*‘CV\ &‘Aa o
oe\n
e s\cAS
A. AB=7 WSC "\,\.)O
B. AB =11 owb\eb o
S
C. AB=16 | \pekwetn 74 ; W‘S\
DI AB=20 OWts 5 3 65
L S0 M\eu( e
f:\\ﬁ 4'1"[\ -© COMS O(\d\v\J\
— ‘/4“ { »_; \ __C. S\M.S P(DPQC\-\DN
- 29>~ oo (A
' \,{" : L//L’,X 8 ‘ﬁ[,‘” (11 f[JL(H; L, \L X—86 F 7(’“’((
19j What is the valueof n? '\ A (. X—\—q \’L’“/ " 62? gqu\
/‘)ﬁ ~IOAR
A n=39 () Bvale w2 % -32>495
B. n=54 Sepecvre As —jéi_ﬁ:"/
C. n=63 @), / \ nx=T1
D. n=90 L&L\ (2? LHSI: X=7

@ ol

ONO\Y—Q & prop OmO\«\ = 3(n)= [O(Z:}\)

Roduce

3@ N “ N =
@ Cvpes YN\ e \_ﬂ_
20— Tn BLMN, S is the|midpoint O@Tls the midpoint OQTMN Jand R is the midpoint of ﬁN
Given the following, hat is the penmeter% Odd vp all % Sl
s W way  pownt
. B or cvrs WATD _ a IRk M
fwo  equal 2x
A. 11.4x Q\e(_(g .
6‘7”" M PO\V\‘}'
BN 55X \‘,‘ by
ol USRS —N
p, 185z O & rwdpon® e 73”‘ \dPow\b N
of o —r(\oms\e
e A Po«;\\e\ s\de
pnasegeny =z
Big A = 6-27\f8.21\*5><*3»\*“f~5x*‘”-37\
. SEL IR
Swo\ A= 8"?* t
Released 12/16/2021 =)S O K
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21. Determine whether the triangles below are similar. Justify your answer. o 5 o P’ﬁoh& m'\\o(“
’ i e

A

\ 20 not oA\
opnon

SWS O

carresponding angles\of each triangle are congruent &r}d the
ratio of the corresponding sides i$ 2. Cowvspor\o\\nj onqes ot =,
Qdcale fador> can e Flippeck
B. ADEF~ABAC because the corresponding angles of each triangle are congruent and the

ratio of the corresponding sides is 3.

C. ADEF is not similar to ABAC because the ratios of corresponding sides are not the sam

D. ADEF is not similar to ABAC because the corresponding angles are not congruent.

A
P 95‘5’
‘V\\QQ_W o et d Y
o\v\gWS a'\t © aivare
\b' = \(D

oo\
?ggﬁg{ e i(hr)

.

xR ;\::f\\* ;‘\:\i‘t Qv\ow\)\r\ o TDC vre o\%\o%(&j - TR OE.
e 'NA 1eomernc . Mea
22. Use the diagram\%ﬁnd?}:é‘cguesl&%andy. AL B 1 N Heesre N\/
A. x=5V5, y=20v5 25 Iy e Rrmula
o w » ’
B. x=5/15, y=10V5 4 2o 20 1pe A Aleignborin
C & y wca’. i ._————"up
—— 5\/5, <= £is =@eo 0 Nt\%\(\\porms &:*;ogg
x=5V5, y=10V5 Y _]g/.io ;- Le o i
<2 . » NL e
> XS
\"b°2‘lg'=\0\]? 72:\4\25_

23. A carpenter wanis o Tmake a triangular frame and has pieces of wood that are 19 inches, 2
inches, and 45 inches long. What is the best description of the shape of the frame that the

carpenter can create? Gz S™allest b= mddle (= \owais-Y
@ S\de S\ S|

A. These side lengths will not create a triangle.

O+ 7C
1287 4s

C. These side lengths will create an obtuse triangle. é;Z XY
mallev

D. These Mate an  acle B,

B. These side lengths will create a right triangle.

47345 )&

2, 0% ¥t Loy e CF atto*rLc *
@ aa*(EK . o Rt & obtosy A
Released 12/16/2021 36\‘47_ + 287- Lig‘zy 5 HL’ ] 2Ol§C-L s bgya
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D. These side lengths will create an acute triangle.

24. A construction company is building the foundation for a new office building. The diagram
shows the lengths of some sides of the foundation. What is the length of the side between
point A and point B? 80 80 -40=40

*AL He Ran angles
30 ft means  Hhe quac\
40 ft s o W (,\*mfl&\(,

50 ft o[pPOS\\C Ados ane
70 ft ﬁ_f A

o 5(( we have
o r\g\f\’r N, A 30 C'OO ‘H(oOO x

e C R W j 402500 ;\,;(1
30%*+40% = X* x=8SU

25. In the right triangle, x and y represent unknown side lengths.

o o

°S 0w »

What is the length of side x ? ’/3/\‘,\“45 o \/\Lj pQ
A This 1s & 30-60-90° \ Muliply by
' Rugn+- A ‘
B. 4 9 .
€T3 i Sho'\lrl\e
D. 33 g
. w\\dd ) \owg ﬁ
—
26. In the figure, what is the distance a ball travels when thrown from second base to home plate?
Sec onA Base
- B g Becoose of Hu Bt |
1 \«ﬁou (an U Qo
B. 180 feet 2'—\—\01: i
C. 90V2 feet Resk Base
q O z q O z_ = x 2, 7\
’bZO 0= Ji »
@ 8100 Howe

' okt
Sl ierori R @pam P 3 QQE_
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second base

we DIGGTM 07

home plate

W{D S 06 ﬁ‘a‘/\‘\’ /X B Al il iEBe UsE
27. What is cos x° in the triangle? 6OH’ CQH ']DP\

40 41 8 }D
A. H G ? QPPDSH_Q 8,) .
sde 1S
B = p. — forvinest
41 40 e Vet > & 7 L/ A
" 40
CO’SM@;;M e adJacm\* s closest
hypo é 40O S not The ypo
g Y. AN

28.  Which of the following has the same value as sif M

iy e [stne of one aco

cos N @\WQ of The O‘M
cosM  (ACue GV\i\rﬁ "\
O m’cj\(\‘r A,

S ow p

i 29. In the triangle below, what is the measure of angle A rpunded to the nearest degree? 7&1{

A 350, BlC i+ 5 6 nght By SOTF- CAH -
Récavse LE ans

B.
C 46 <Pyt B, LeCEUSt ul | 00 gt ghe
p. 72 One \oolunq of &N | XN gﬁt\w use
OG- u»e\ pveea ol ana(enA& ey
verse. ~
0s€. the 10 OS—‘(_..L—M ):7\
wipe

Released 12/16/2021 3 y =} 4
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D We need v Fad "4 before e can Bud X

30. Find the value of x in the diagra below Round your answers to the nearest tenth if & comigd WAy
necessary@ U(Dé Qﬂ/'faﬁ ‘o B x Use a fb % c
¢ > L
A w=122 DIt VL c\om Wawe Mg adjaent, ¢ el
0 = . & . " 2z
T ok cant Use A T |
— i 2 _ C{(,{
W 43 PARS"
(ol ¢ oo 2439 2*+320
D 26 ' 5
N —22.612 .
—3T—TTree students were asked to find the value of x in the diagram belo £ b X )10 86‘
120°w o &

90+y +L4=190

@ erwsE O

g+ 144 =180, \(1’724‘)"0-b82 (%)

S Ve
The first step of each student’s work is shown below. Determine which student(s) set up
the problem correctly. -«oz Lo A 24

Lewis Alexa Miranda
x 7 16
€0S26 = tan26 = — sin64 = —
—am 16 = X — X
?’\o\
A. Lewis, Alexa, and Miranda Lew:s ﬁ\ i I M \(\&\(\ dO\
B. Miranda and Alexa (> e | ) opp
, ; 7 o,
C. Lewis and Miranda 0??
lb wype
D. Lewisand Alexa (6 Wwyp? Jo hypo ' 9P
Cos db= X rzm(ﬂ»):" o (L) = i
Vo
Doiiaede come oy VN CoWre X
32. A person is standing at ground level with the base ol the Empire State Building in New i
York City. angle formed of elevationformed by his position and the top of the
building is 48.4° hthnght of the Empire State Building is 1472 feet. Find the distance
that he is standing from the basc - of the Empire State Building to the nearest foot.
A. 8 feet C. 1968 feet <
B. 1307 feet &H—Cﬁ\'\ @ D. 2217 feet
¢ 1(1432) = |.) Uo(x) Cyg !
FPONIOY 4g.4) _ |42 /2l
g\ ~—7’7‘OV\(\8- ) 437 > \4F-=1.1260x) OPP
®
l.126 4 804 rn
L. )Z'LA "Vﬂ) F % ad)
Released 12/16/2021  / /“"‘ A\ J
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(Covrer anqley gre 90°

33. rectangle(is inscribed in the circle below. What is the exact circumference of the circle? n
nd coaw S
(O Ciecomberence 9 2me G332 e

S 2.61e a1 e cadius

A
=)
B. 34mcm
" Bl )
C. 1697[677@ Daw w0 A am etee j/
D

. e76mem(d Use PqW&as R d

al+\o?=e*

e
\o fzqi ’c/ /'1 i o {;"
0O + &§

33— Fmd-thevatuesof xand y in the dlagram below
Select all that apply.
Dameles ot arcles nte 180° halfs

. e
G. x=45 X+126 = 1o
H x=36 X?ﬂ X\ 126°
L y=54 QD‘r\ﬁx;@f@o R
J. y=45 4'0+\’+5 ?]80
K. y=36

\ + 484 =180

‘\HW/H ""15

N = chﬁ

35. In the circle below[ PR Mnd QSR = 46°2 What is the arc length of PQ ?

Round you answer to th¢ nearest hundredth. eV\'ﬂ‘a\ QV\S\Q -

Kedvs

A. 18.71cm
djzr BYO:3 5t ‘P? 'S ‘6\%
8:2r C. 642cm CAW‘.@W whicw
=t D z50em cuts mb 180

\(\Q\€>
X+H6=180
=8t 250

Conira)

—.———v = ael =
Aree  Lengrth T )

A

Released 12/16/2021 . <O. s Z_>(8)(% X \L—{ > = q " 3 SO Z
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36. In the diagram below XY = 10x — 10, XZ = 6x + 10, and Y7 = 8x — 5. Find XZ to the .
nearest whole number. g 6\0 ce OeS A =
A XZ =10 \ Hreny  Cowre S?z“dmj
B. XZ =25
C. XZ=55 L Tl
D. XZ =101 6(3.5)10
45 +l0
37. What is the length of CD to the nearest tenth?
rad\UD
A:;' CD=65 u AB=-AE+ER
B. CD=177 2324800
C. CD=130 = 8.3
D. CD =153 ‘Z\(J nwt A —707—4(\07-:(;;
(%) 3.22+x2=8.6 @/ If & codis 15 L.

10.24 + x> = (3.84 Gmead & Chod,
m- Sé_fos “‘/t\O/V\ o+ \px\.< cq s

X = *} 59 Fhat e

A. x=18 mBC =136°

B. x=92 mBC =88°

—
C. x=18 mBC =88°

e
D. x=92 mBC =136°

3b0° O C\Q\Q
Vj +9 168 =30~

8= 3L0" \_ & lnscnbed Angje. = WL
3 -6 89 — 3(H)=88 __
_:,L’ij SREEY ki

Released 12/16/2021 2. ‘j \3(3 b)( :q O
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e,

39. What is the length of the minor arc 4B in the circle with a r@us of 45 crp,‘?) (2: \J

A Jppe—""
A. 20mcem Q \()ed\ 3 HCX\ :._L\.]—--Qﬂ'(‘
B. 10mcm \V\*DC{\ . \W\S\M 5"0
C. Smem Sl T;O\'m\)\”\
' iF =0 295
D. 2mcm : f\\QPA —_— m
A e AR 300
&7/0)50“3 Borroc 2
a\ = N‘ OQO._‘H—
q
| =D
40. What 1sth@luz>ofx? " o 0€ —-,OT
0S|
A x=14 ovﬁp\‘i\&r'\m O T
B. x=15 (Yuodrilade. \ D
c. x=21 O SLpplenn 8 o
v = |9
D. x=26 (9)(’50 TSI}:IBQ % ,,(_5.
i oot "
oY, + 244 = |80 P s
24 -2y B

41. ]AB is Tangent o circle M at point A The circle has a radius of 9 and BC = 14. What is

thelengthongé A "f‘aV\%CW\' - 1

SBlc 1+ s L

A

A. AB=107 o Yadis @ Hre a:*‘oz?-‘c,z
B. AB=166 DOWW of '\'amﬁcmfj A=t * =232
C. AB=212 e - i ~ 581+ x*=574
@A’\\ cadit 0
D. AB =247 ARl
e sowe O o S hole R ¢ S
& Wypo \ - [bge
S Sl e
42. In the figure below, £QPR is a circumscribed angle. Find the value of x. =&l loke
©) P (2 We neech W Gec
0 3(O° ™~ & C\vCle
Bl o) g 4 1255 2306905
2 - Jwsvde MO 2
L= Ex\cm\:‘bgﬁi“i—‘}—zf—@-’— WF e e
C.' %= 85 e O ,OUhW Are
D-x:\% €% = 22S ~los J
2 Pt

Released 12/16/2021 VS = SD f s @5
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P
D. =12

L
A

43. What is the measure of RS ?

Formula

—~ \!01’5\ o kevnal pmg\e,

s
44. What is the measure of the inscribed angle (x), if the ray 1s tangent to the circle?

pr

o |  Fe @WB\Q/
ABdg i) 00" AN 0 )5 o0 Ha)
B. 110° C/\(\C/\‘Q/_\ . meiufo
C. 70° 110 $+2% =300 140\ OCC 1S folce
D. 55° Y angR
An=gzb N3 X (25= 2%
- A 4
x= 110

45. What is the perimeter of ALMN to the nearest tenth?

o (0 R O

26.0
24.8

S0 ® >

Released 12/16/2021
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|

Fwd e Permetex , (}1{\91561
@ 44.4 Thae cl\stance o nnola | T [\117)2'— 07/ |
Com (s 9(0(\:\ he AL YARL /'c’b
I-ﬂ 2?'1’ p\rW\(LS "HI\QOM\/\oSO/ Las » o Fg-b-;,k
@ Lb.O WMalke Q\S\r\-‘c As\and e\ S XLN‘-\\O"‘
' so\we Kol eacn Ews% .
Bloas  wape Ly cmss MG grean
s e | e
\ oL U\ -f% ‘
\J 2?+0%= C# G)(_)q 5 |
. B MN =214
Per\me-\Qr=LN+MN+ LM Y262 >
= L442.49 4632 JHorke”
LM= .32
46. What is the approximate area of the parallelogram ? MS 1 e 58@%{’ %ﬂﬁ\’bzﬁ |
Uoe xi 3 1
A 69.9,f62 ﬁ:;’a _ oase - height : / 1 Snd e
B. 1053 fe? falelogmm | gt
C. 121.6ft -
p. 210672 (5.2 )(0.43)
=105, 308
e \

47. Rhombus TUVW has an area of 45 in? and TX = 6 in. What is the length of XUN &% } 2 d(. 6(;;(,)

O Dicaonals of &
U

A XU=150in Pinoymbus Wisect T
B. xU=75im €ONoHer (Cot v
= . Wb Z egoal
C. XU=375in P\ews)m"—
D. XU=3.0in@AN . o h 1 * \
a o5 & A Y
R \non oS z Z—<d\’f}‘)m\ “‘)(d onal ¥ Z
ys =3 (b1l )(X1X)
=7 7% NoWwply bef+
Hs" 7,;(_\2.>( 3 B e
Us = (o(2x)
Released 12/16/2021 ys = »—-\Zx \
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48. What is th@has aWZf 1007 feet ? p
A. 10m ft? Q(\ea of o- Co 100t A\ A
. 2 ((6AWS )Ty

B. 507ft? (\rcle 1S p. 2500m ft2 &) -

® H - T%* Cad WS :
We eed Fhe AL SDYaT SOF = LT L]
F_= SO

B s = 2500w - il

49. The diameter of a circular pizza pan is 18 inches. Two-thirds of the pizza is eaten by
your friends. What is the approximate area of the pizza pan that is covered by the @

remaining pizza? @ F\Y\d lF Z/5 6f He Pizza

A. 170 in? % cad\>c, 54 in? 1S eoten | thew ovx\~j

tuoﬂf?_fT\“
JOCIE et

~

B. 85in2 D. 27in2 ,5 (\e_ma\ns SO we.
Oome e = 2+ radws Wil Tale 13 of +ie
& =2 oveon of YWe cuecle |
- \ 2 =4
=9 P,.—,glrrr)?— . ?3"*
@ 50._ A sector of a circle has an arc length of 10 feet. The cm@%wm?_” Y
QPC g 60°. What is the area of the sector? ® @ Vi)
P \ {1
\eqnin 150 N z N .ne? Tty
2 A. ——f2 Prea . =77 C. — ft? = 360 @
Sedor &O 360 O <3_Q>Z e 8) LI.T&
. —-—ftz We 200 e rﬂd)\l_;). ﬂftz = EZO. i L
|15 n il 7(,C{_CQ

hat is the area of a regular hexagon with an apothem of 10 cm
nd a side length o@

. 200V3 cm? QN&

of - -i(apo\’w)"
300y ont b (Pecmneter
. 600v3 cm? D\)‘k,)‘(jor\
. 600 cm? W - ’;/ ay
LRl Pecmeke _
i Qooola oneans all  SOUS =
t Z(Sm()troﬁ ) Se T sutes (295 o

R00(3 L. 208 ,wr E
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s Touad

52. The shape below is made of semicircles. What is the approximate area of the shape?

(D there 1 wo Lo emola
A 101f82 G- Mals Shape  So
B. 117 ft> ‘oven¥ O vy S\I\C-(MS
C. 165ft2 Wt XNnow
D

2012 ®
Toln\ Pvea = Sc‘uod\t + Gecve Qe

et vl env
82 L’L‘\T L’Zﬂ—
O% + 1T + b
0y ¥ o(3049) + Ve(3:04) = [H.49
goe Gt «SD24 4 SUe29: e —
53. The ratios of the areas of square A to square B 1s 2—;— If the area of square B is 100 cm?,

what is the length of a side of square A?

A. 4cm () Make o C. 10lem @ Prrec. o€ o
B. 8cm P(LPQ(‘ o D. 64cm Sclm 'S
D sz
Sqvore ASE Lo Px*‘fb\z
51)0008 6.7 @5 @4 :ﬁ
o (100) 25(x) V=8
100 = 28%
Svea. pf  Sguoe A s k= (ot
—-——-—y:lf""":(T What(/irsmurface S oTthe ;?y—ramid below? o of pre P> Nerd to F\(\m
kf,'a g Slond haige¥ 4\cny \M\S\M'
ik Sﬁ ot Basl \ ‘(/ "
: EZZ & g B+zP4L AR
! in
Pyl SV
C. 336in g% P
. T
st ey ()0) £ B Ler.
vy« Z-L+(\O) 12/in 7b“’(ou1‘:z_1
‘ ik
44 el ‘ 7-\0
Perimete .
Y oF  =N+lztliun
Squ(»ﬂ/ Y9
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55.  What best describes the cross section shown on the cube? ——m——
A. Square C. trapezoid - ; l}l
B. triangle D. rectangle l{? : /:’
o — | /
g\nadkeA \ a2
Snapt

56. A layered cake is a solid of revolution. Which of the

following is the drawing of a two-dimensional shape and

an axis of rotation that could form the cake?

v

~ 57. A tanker truck carrying 3,000 gallons of fuel and fills an empty cylindrical gas tank.

e The tank has a height of 4 feet.

It takes approximately 846 gallons of fuel to fill the tank 1 foot high.

Will the tank hold all 3,000 gallons of fuel from the truck? Explain.

==

A. Yes, the tank can hold a total of 3,384 gallons of fuel.

B. Yes, the tank can hold a total of 4,280 gallons of fuel.
c No Y tone can only wold 2 ,)VSU.

]q Teet

4840)
238y BB gollens
of fue\\n Fhat
Ao

D No e fmilc can ov«uj Gold VL2928 .

Released 12/16/2021




GEOMETRY SEMESTER 2 INSTRUCTIONAL MATERIALS 2021-2022

Courses: #2212 Geometry S2 and #7772 Foundations in Geometry S2

C. No, the tank can only hold a to

of 2,154 gallons of fuel.
D. No, the tank can only holg total of 2,538 gallons of fuel.

58.  What is the volume of the figure below? / e fwezn e

Volume
93.47 ft3 of = B '.\V)
geEEy _ © Bazelis
Y
2 (4.5)3)
22,254(51)
- 6.7 (6. ¥
T S, T5PS
59. What is the height of a square pyramid that has a side length of 13 feet and a volume of

: 2
me o 1521 cublcfeet.\/_ w

P yore_

31.16 ft3

S 0 & »

15.58 ft3

A. h=3ft b C. h=27ft
5 152121690 2
B. h=9ft 3 D. h=39ft
1%
13 g
HS63 = 19h he23

A food manufacturer sells yogurt in cone shaped cups with the dimensions shown. T
To the nearest tenth, how many fluid ounces of yogurt does the cup hold if

1cm3 ~ 0.034 fl oz ? A We need

Aameler = 8 W

d:Z(“ mdio>

A. 0.6 floz i
B. 57floz S
C. 171 floz V e
D. 228 floz \[\9)‘08\&\ wne - 3
@ Convexy = w(4)* (o)
len®=0.0%4 € oz. 2
[6F.47(0.034) \/=|\,‘+.;g . \(mba\w
(&
5.694 = 160 (3.14)
Released 12/16/2021 __.*3
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\(olome of - L"rad\usg-ﬂ

61. What is the volume of the sphere in terms of x ? O 5?\\0)‘6 2
3
b
A. 36mxd ftd LH )(; w
B. 48mx3 ft3
C. 288mx ft3 (ox YoxXbx)
oy 4(R)6x>) T
S
Bl x>T
5
B 288%° W

62. You want to design a cylindrical container for oatmeal that has a volume of 90 in®. You
also want the height of the container to be 3.5 times the radius. To the nearest tenth,
what should the approximate radius of the container be? 5

22
A. 20in B . s Veyinder i ﬁrl n
B. 29in D. 3.lin GIO;TT(V‘ )(3.Sr§
- A S
3502(“0.6\\\13 QO -TT(Y‘ )(5}
R.GC qo e 1L (3-6—r
e 13
3

63. What is the closest approximation of the volume of the figure 3 8.1
=0
We dont Wewe « Sy VA
A T3tem o ol foe Hais g 4\6-)‘18
o M e T S
C. 1090cm?® brea ¥ up wto 4 olc TF o
D, 1166cm? ONopes UL Fag L on €
8 obe
=2.0]
- + Ro\® dov -
\/TDTHL kmﬁu\aw Prism —L\ C\f)m
= Bh S TTr*h
bh-h —
8(12)(9) Z(W 0w s
4b(a) 3 (1) (BO¥
864 gy = qor

Released 12/16/2021 + Wi = LY - Q6(314)
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64. Adb-ox in the sh.ape of a square prism has three golf balls inside. Each golf ball has a
radius of 0.84 inches. What is the minimum volume of the box needed to hold the golf

\J/()\ume - B h
(5.09)(1-6R)(1.68)

balls?

TE F 7

Pasm

LQ-QdC\AdeO&(‘)

4.74 in?
7.44 in?
14.22 in?
19.86 in?

Need i Aawmeler
o= 2r
= 2(-84)
z). (8

@.qefz)(l\(,e;)j\—ﬁ 4. 224

e

65. The two figures below arc similar. What is the ratio of the volume of Figure A to the
volume of Figure B?

Released 12/16/2021

A 27512 Roho  / %
: ;i \ODU /Swle
B. - 36:256 \ &hckor
Volumes \Fader/ -
C. 8:125 o 6
N8 22 — Figure A
p. 425 AW ™,
?‘6{’/ K-‘S 3
3} B e
—'/ T — —
\ &) g° =512
Geometry Semester 2
Instructional Materials 2021-22 Answers
Unit 6 Unit 7 _ Unit8 Unit 9
ST I Right Triangles & e
Quadrilaterals Similarity Tri Circles
rigonometry
# | Ans | Standard # | Ans Standard # | Ans | Standard # Ans | Standard
1. |D HSGMG.A.1 |12, | A HSG.SRT.A.1 |22, | D HSG.SRT.B.S  §33.| A HSG.CO.A.1
2. |G H1|HsGcoct J13.] A HSG.SRT.A.1 23.!C HSG.SRT.C.8 | 34. | F, K | HSG.CA2
3. |C HSG.co.C.1l | 14, G HsG.co.A2 |24.|C HSG.SRT.C.8 35.|B HSG.C.B.5
4. | A HsG.coc.1r p1s. 7G, I, J | HSG.SRT.A.2 25. | B HSG.SRT.C.6 36. | C HSG.C.A.2
5:0.C HSG.CO.C.11 176.7 (o HSG.SRT.A.2 26. | C HSG.SRT.C.6 37.|D HSG.C.A.2
6. | B usg.coct J17. | A | HSG.SRT.B.5. 27.[A HSG.SRT.C.8 [ 38.| A HSG.C.A.2




GEOMETRY SEMESTER 2 INSTRUCTIONAL MATERIALS 2021-2022
Courses: #2212 Geometry S2 and #7772 Foundations in Geometry S2
7. |B HSG.Co.C.11 | 18. D_i HSG.SRT.B.5 | 28. | C HSG.SRT.C.7 39. | B HSG.C.A.2
8. D HSG.CO.C.11 719. D HSG.SRT.B.4 | 29. | C HSG.SRT.C.8 40. | D HSG.C.A.3
9 B HSG.CO.C.11 §20. | B HSG.SRT.B.5 § 30. | D HSG.SRT.C.8 41. | C HSG.C.A.2
HSG.CO.C.11 gl o i e
10. | C HSG.GPE.B.4 _21.7 7A nso.sRl.f\j 31. D HSG.SRT.C.7 42. | B HSG.C.A.2
HSG.CO.C.11 o GO
11| B HSG.GPE B.S - 32. | B HSG.SRT.C.8 43. | C HSG.C.A.2
44. | B HSG.C.A.2
Geometry Semester 2
Instructional Materials 2021-22 Answers
Unit 10 Unit 11
Extending Area Extending Volume
# | Ans | Standard # | Ans Standard
45. | B HSG.GPE.B.7 755, C y HSG.GMD.B.4
46. | B HSG.MG.A.3 56. | D HSG.GMD.B.4
4751C HSG.MG.A.3 7517 7A A HSG.GMD.A.1
HSG.C.B.5 _—
48' D HSG.MG.A.l 75;87 B A E§(I'OM?'/\‘3
HSG.C.B.5 v
49. | B HSG.MG.A.1 59j C,,,f “S("(’ﬂl,\;s_
50. | A HSG.C.B.5 60. | B 'HSG.GMD.A3
51. [A HSG.MG.A.3 61. | C | HSGGMD.A3
52. [ & HSG.MG.A.3 62. [A HSG.MG.A.3
53. ] B HSG.GMD.A.1 | 63. P ‘ HSG.GMD.A.3
54. [ D HSG.MG.A.3 64. | C HSG.MG.A.3
j 65. | A HSG.GMD.A.1
Released 12/16/2021
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